07/28/2009
BALLOT QUESTION

Shall the City of Rochester Hills replace the expiring, previously-voted bond millage of
____mills (reduced to 0.4395 mills by the required millage rollbacks) with a new tax levy of up
to 0.4395 mill ($0.4395 per $1,000 of taxable value) on the taxable value of all property assessed
for taxes in the City for __ years, beginning in 2011 and continuing through | inclusive, to

be used for ? This will provide an estimated $ if levied

in full in the first year.

Yes

No



